011

630203 L 0020220 0o oogn

oooon
0 O 202200000 20220000000000
Ugof gdof 0don Ugof
0 g A=B+C B C D=E+F E F
god 16.45 12.82 3.63 14.05 11.90 2.15

gglroooboooobodbboobooobbooboobbooboooboon
2iooooboboboooooobobobobooooobooboobobob



01-2

630203 L 0020220000 booogn

gogoog
g o0 oo oo
gbz20210000000000000D00 10.95
gbz202200000000000000 12.82
gbz20220 00000000000 2.95
gbobooboobobooboboon
20220 00000000000 2.95
gbz20220 00000000000 2.00
gbz20220000000000000000OO 11.90
gbz20230000000 1.58
gbz20230 000000000000 0.00




01-3

630203 L 0020220000 booogn

gogoog
g o0 oo oo

gbz20210000000000000D00 3.65
gbz202200000000000000 3.63
gbz20220 00000000000 0.00
gbz2022000000000000 1.50
gbz202200000000000000000 2.15
gbz20230 000000000000 0.00
goz2023000000b0ooooobogn 0.00




014

630203 L UL OUbobououbbooouoo

oooon

g 0 0d oo 0d
0020220 0000000 A=B+D 2.95 2.95
gboboogo B 2.95 2.95
gogbobooood C 2.00 2.00
gboooooo D 0.00 0.00
gbooooobod E 0.00 0.00
0020220 0000000 F=G+H 3.50 3.50
gbobooogn G 2.00 2.00
gboboogo H 1.50 1.50
0020220 0000000 1=]+K 0.53 0.53
gbobooogn J 0.40 0.40
gboboogo K 0.13 0.13
gobz20230000000 L=M+0O 0.00 0.00
gboooooo M 0.00 0.00
gbogoog 0.00 0.00
gbooood N 0.00 0.00
gbobooano 0.00 0.00
gbooooo 0.00 0.00
gbooood P 0.00 0.00
gobz20230000000 Q=R+S 0.49 0.49
gboooooo R 0.42 0.42
gbobooano S 0.07 0.07

gbiooboobooooooooooooboboboboboooobooboboboboobobobooboobOobOobobbooboDoo

000o0o0o0ooobobooobooooobooooboooooooobbOoUoLDO



